N

-3
O : T 0.2

X

) F j A
g u : o) C
A 0.15F A E0.155} -+
S u 1 g o
o ul ; ol I
y 0.1: : v 0.1:

0.05ft ' 0.05F ===+t (I el 11

Off Of| f

—0.05F {1 [+ —0.05F-----+* 13

0.4t o} A1
-0.15F =015 =Tt 1 A -
.9_0.2_ |||||||!|||!:'i::!:::!:::: _O.E:IIII!I.;II!””!””!IIII!””
*‘—6' 2 Lq]-- -1 - RHH d g o o 1 s i . s
o

]
Ratio

0 £ 'd hattrll (A {11
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKi__RECO

—e— DQM_V0001_R000000001__Global_CMSSW_mkfit__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkfitCowPtQuad__RECO
—— DOM_V0001_R000000001__Global__CMSSW_mkfitLowPtTriplet _ RECO

= 100

< 00y > (HM)

N
» O ® O
S & 6 o

(@)
LR I L R L L R R R A

TP n (PCA to beamline) TP n (PCA to beamline)

<op/p, > (70)
w

35 2 1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


